

۱- در هر ۲ پرانتز عدد از بالا رقم یکان فردی شود

$$\checkmark \quad 1! = 1, 3! = 6 \quad \text{در حالت فردی فرد}$$

$$/ \quad 2! = 2, 4! = 24 \quad \text{در حالت زوج}$$

$$4 \times 7 = 28 \Rightarrow 12 \text{ رقم یکان}$$

$$\frac{\sqrt{(4+\sqrt{5})^{-1}}}{(\sqrt{2}+\sqrt{5})^2} \quad \sqrt{1+\sqrt{5}}$$

$$\sqrt{\frac{2}{(1+\sqrt{5})^2}} = \frac{\sqrt{2}}{\sqrt{1+\sqrt{5}}} \times \sqrt{1+\sqrt{5}} = \sqrt{2}$$

$$\left(\frac{\sqrt{2}+\sqrt{5}}{\sqrt{5}+2} \right) \left(\frac{\sqrt{3}-\sqrt{5}-\sqrt{2}+\sqrt{5}}{2} \right) \quad (2)$$

$$A^2 = \frac{3-\sqrt{5}+2+\sqrt{5}}{2} - 2\sqrt{\frac{2-5}{2}} =$$

$$6-4=2 \rightarrow A=\sqrt{2}$$

$$\sqrt{2}+\sqrt{5} \times \sqrt{2} = 1$$

$$\text{Arman} \quad (\sqrt{5}+\sqrt{2})$$

$$\omega) \frac{\sqrt{1} + \sqrt{2}}{\omega - \sqrt{3}} = 2(\sqrt{1} - 1) - 1$$

$$\frac{2\sqrt{2} + 2\sqrt{2}(\omega + \sqrt{3}) - 2(\sqrt{2} + 1)}{\omega - \sqrt{3}(\omega + \sqrt{3})} = \frac{2\sqrt{2} - 1(\sqrt{2} + 1)}{\sqrt{2}}$$

$$\frac{10\sqrt{2} + 1\sqrt{2} + 14\sqrt{2} + 9\sqrt{2}}{19} = \frac{19\sqrt{2} + 9\sqrt{2}}{19}$$

$$\frac{19(\sqrt{2} + \sqrt{3})}{19} = \boxed{\sqrt{2} + \sqrt{3}}$$

$$\frac{2\sqrt{2} + 1}{2-1} = \frac{2(\sqrt{2} + 1)}{2-1} = \sqrt{2} + 1$$

$$\boxed{-1 - \sqrt{2}} \quad \sqrt{2 + \sqrt{2} - \sqrt{2}} - 1$$

Arman

DATE

/

/

Subject:

$$\therefore \frac{2\sqrt{3} - 1(\epsilon - \sqrt{3})}{\epsilon + \sqrt{3}(\epsilon - \sqrt{3})} = \frac{12\sqrt{3} - 9 - 1 + \sqrt{3}}{12}$$

$$\frac{12\sqrt{3} - 10}{12} = \frac{12(\sqrt{3} - 1)}{12} = \sqrt{3} - 1$$

$$\frac{1(2 + \sqrt{3})}{2 - \sqrt{3}(2 + \sqrt{3})} = \frac{2 + \sqrt{3}}{1}$$

$$\sqrt{3} - 1 + 2 + \sqrt{3} = 1 + 2\sqrt{3}$$

$$\text{ii) } \frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-1}} = \quad - \text{E}$$

$$\sqrt{\frac{1+\sqrt{3}}{\sqrt{3}-\sqrt{2}} \cdot \frac{(\sqrt{3}+\sqrt{2})}{(\sqrt{3}+\sqrt{2})}} + \sqrt{\frac{\sqrt{3}-1}{\sqrt{3}-\sqrt{2}} \cdot \frac{(\sqrt{3}+\sqrt{2})}{(\sqrt{3}+\sqrt{2})}} =$$

$$\frac{\cancel{\sqrt{3}} + \cancel{\sqrt{2}} + 3 + \sqrt{6}}{3-2} + \frac{3 + \cancel{\sqrt{6}} - \cancel{\sqrt{3}} - \sqrt{2}}{3-2} = 6 + \sqrt{6} =$$

$$6 + \sqrt{6}$$

DATE

/ /

Subject:

$$\sqrt[3]{\sqrt[3]{2}} \times \sqrt[3]{162} \times \sqrt[3]{8 \times \sqrt[3]{2}} =$$

$$\sqrt[3]{2}$$

$$\sqrt[3]{2} = 2^{\frac{1}{3}}$$

$$\times \sqrt[3]{162}$$

$$\times \sqrt[3]{8 \times \sqrt[3]{2}}$$

=

$$2^{\frac{1}{3}} \times 2^{\frac{5}{3}} \times 2^{\frac{1}{3}} \times 2^{\frac{1}{6}} = \boxed{12}$$

$$\text{و) } \sqrt{a} + \sqrt{4a} - 2(\sqrt{a} - 1) =$$

DATE

/

و) ا

$$r^n (1 + r + r^2 + r^3 + r^4 + r^5) = r^n \times r^6 \quad \text{--- } \Delta$$

$$r^{n-1} (1 + r + r^2 + \dots + r^{n-1}) = r^{n-1} \times r^n$$

$$r^n \times r^6 = ar \Rightarrow \frac{r^n}{r^{n-1}} = r^n \times \frac{1}{r^n} = r \left(\frac{r}{r}\right)$$

$$r \left(\frac{r}{r}\right)^n = a \rightarrow \left(\frac{r}{r}\right)^n = \frac{a}{r} \rightarrow \boxed{n = 1}$$

$$ab = \sqrt{(r^2 - r)(r^2 + r)} = \sqrt{r^3} \quad \text{--- } \Delta$$

$$a^2 b^2 = r^3$$

$$a^2 + b^2 = n \rightarrow n^2 = a^2 + b^2 + 2ab$$

$$n^2 = r\sqrt{r} + r\sqrt{r}$$

$$(a^2 + b^2 - 2ab)^2 (a^2 + b^2 + 2ab)^2$$

$$[(a^2 + b^2)^2 - (2ab)^2]^2 = (n^2 - 2ab)^2$$

$$\Rightarrow \frac{r(\sqrt{r} - \sqrt{r})^2}{r - r\sqrt{r}} = \frac{r(\sqrt{r} - \sqrt{r})^2}{r(\sqrt{r} - \sqrt{r})}$$

ct:

۱- در هر ۲ هرات

در ناآلودگی فرد

در هر روز

۲

DATE

/

/

Subject:

$$ع (۱ - ۴\sqrt{۳}) = ۳۲ - ۱۶\sqrt{۳} -$$

$$۱۶(۲ - \sqrt{۳})$$

$$(a-b)(a+b)$$

DATE

Subject:

$$a = \sqrt{(r - \sqrt{r})^r} = \sqrt{r - \sqrt{r}}$$

-✓

$$\frac{1}{a} = \sqrt{r + \sqrt{r}}$$

$$\left(a + \frac{1}{a}\right)^r = (\cancel{r - \sqrt{r}}) + (\cancel{r + \sqrt{r}}) + r \underbrace{\sqrt{(r - \sqrt{r})(r + \sqrt{r})}}_1$$

$$= 2 \Rightarrow a + \frac{1}{a} = \sqrt{2}$$

$$(\sqrt{2} + \sqrt{r})^r (\sqrt{2} - \sqrt{r})^r = (\sqrt{2}^r - \sqrt{r}^r)^r = 1$$

$$1 = r^t \rightarrow t = \frac{1}{r}$$

$$\sqrt[r]{r \times \sqrt[r]{1}} \times \left(\frac{1}{r}\right)^{\frac{1}{r}} = \sqrt[r]{r} \times \sqrt[r]{\frac{1}{r}} = \sqrt[r]{r \times \frac{1}{r}} = \sqrt[r]{1} = 1$$

-Λ

$$r^r \times r^{\frac{1}{r}} = r^{\frac{r+1}{r}}$$

$$\sqrt[r]{r^{\frac{1}{r}}} = r^{\frac{1}{r^2}} \times r^{\frac{1}{r^2}} = r^{\frac{2}{r^2}} = r^{\frac{2}{r^2}} = 1$$

$$(rA)^{-\frac{1}{r}} = (r^r)^{-\frac{1}{r}} = r^{-1} = \frac{1}{r}$$

$$\frac{a^{\frac{1}{\sqrt{r}}}}{a^{\frac{1}{\sqrt{r}}}} = \frac{r\sqrt{r} a^{\frac{1}{\sqrt{r}}}}{a^{\frac{1}{\sqrt{r}}}}$$

- 9

$$a^{\frac{-1}{\sqrt{r}}} = r\sqrt{r} \rightarrow a^{-r} = r \rightarrow a^r = \frac{1}{r\sqrt{r}}$$

$$a = \frac{1}{\sqrt{r\sqrt{r}}} = \frac{1}{r\sqrt{r}}$$

$$\frac{\frac{1}{r\sqrt{r}} - r}{1 + \sqrt{r}} = \frac{r\sqrt{r} - r}{1 + \sqrt{r}} = \frac{r(\sqrt{r}-1)(1+\sqrt{r})}{1 + \sqrt{r}(1+\sqrt{r})}$$

$$\frac{r\sqrt{r} - r}{-1} = \boxed{r - r\sqrt{r}}$$

$$(\sqrt{n+a} + \sqrt{n-\epsilon})(\sqrt{n+a} - \sqrt{n-\epsilon})$$

$$= n+a - n+\epsilon$$

$$a+\epsilon = r(\sqrt{n+a} + \sqrt{n-\epsilon})$$

$$\sqrt{n+a} + \sqrt{n-\epsilon} = \frac{a+\epsilon}{r} \cdot r =$$

$$\frac{\epsilon+a-\epsilon}{r}$$

$$\boxed{\frac{a}{r}}$$